36 vector bytes

Binary File: (in Hex.) (without index)
gb21~ 3C 3E iC oc 25 24 ac ete.

Wectors arointhe [ §,~e| ty=0dy~ | 4y~[o=8 4,8 | 4,2]




Data array {BX‘H} 33 hyi%

Binary File: (in Hex.)

VT | 0900 - 00 1C 00 DO 22 0D 03 41 etc.
m@OOOOOOO Q000000
0000000 0000000
OOOOOOO Q000000
OOOOOO“ )OO O00O00O

0000000

Q

00

5O0000000

[0000000GC

Yole!
OOOOO@@fOOQOO” 00000
0000000000000 000000

0000000008 ®e 00

Q000000

i

& Binary ~7

g8 1 118 @

start{Ist table o

vg & ireversed
| from 4+8+16=28dec.=$1C (2nd byle of tble)
& normal)

and

stk

By B . B s A G Bl B




32 points; each point: 1) hor. lo., 2) hor. hi., 3) vert.

tart
. 97 bytes (1+(3X32))
Binary File: {(in Hex.)
0900 - 20 07 00 04 OQE 00 OB et
Hex for ‘Hor: . Hor.  Vert. Hor. Hor. Vert.
no. of pts. lo. hi. lo. . hi.

# of points =({lines hplotted+ 1) {even it parts of or
gl of 'seme of the fines get drawn twice or morg)




